$=1/500 (A1)
§=1/1000 (A3)

T EE

EXEHRHI-1 PE@150 L=372. 8m

I@4

t1@-4 +I@®-2 £I®-1 L=107.5m +I@-3 +TZ-1 L=95.0m 1122 I@-1 =144 m +I@4 +I32 +IP4
L=1.2m L=4.3m 1=3.1m L=3.3m L=5.1m =2.8n | L=4.6m | L=1.2m
Tk
150 150
FEAKR b osi— Tﬁzi*fs’\oﬁ
x
Y2 b —LEEE ¢ 150 l
s | AR ko ri—

=LY kKR ¢50
FAKSEE

{7

TI@5 L=2.5m

HREEHRERI-1 PP¢H50 L=2.5n J

VI b= 4150

YR Py

V7 b—iLi s ¢ 150
YIS

V2 k=il 5 ¢ 150
HosE

1I@-2
L=0. 8m

+Id-2
L=4. 6m

+I@®-1 L=35.9m

MK
150 150

BEAEMRI-2 PEH150 L=41.3m

(s
7

VI b= iS¢ 150

HsrE

=L T ik K2 ¢ 50

HkH

+T@®-3 L=2.5m

BEEHBETI-3 PPH50 L=2.5m

V7 k=5 650
ok ]

I@5 L=1.8m

BEEMAHI-2 PPH50 L=1.8m

IEZ HERARATHEEIER

B | ERATEBLBAMSTES BN
] EmE

#/ R &8 R 0k

BEE -
0OmErokEE XM BE&| 2/8




$=1/100 (A1)

BEHE 2o

A—A D-D
10,350
3,100 7,050 10,150
2. 300 2,350 200 7,600
f | i o0
\q ‘
B@DIP$ 150 $FBPES 150
BERDIP & 150 $FAEPE ¢ 150
DL=0. 00 DL=0. 00
B—B E~E
$.580 10,100
1.850 7,530 2,300 200 7.600
1.050 1,500 8
i
_EEBDIP 150 SPES 150 BERDIP @150 FHIRPE $ 150
DL=0. 00 DL=0. 00
c—-¢C F—F
15, 150 4,800
| 11,400 3.550 000 4, 000
1 | 1
$FEBPE 6150 'M
DL=0. 00 . DL=0. 00

IF4 R NEKEREETE

# | ERRERBRANBEEEEG BA
£ 1% b B

B/ R R {r

BEHE B/E

7O Bk EE K #EAE| 3/8




U5

]
L —

@ S=Free

EH0IPRA ¢ 150

A b u =1 UL IDIPR G 150

HTFHDIPA ¢150x $150 (/S Fit)
ked-iEid- §

EFy 5 150
o FIlsakie PPAD ¢ 150 x $50
EFV 2y b ¢150% 24

PEELOGY I b - i# ¢ 150 (EREH
» 11;

EFE @~ K $150x22 1/2°
EFABARL K §150%22 1/2°

EFRSAL F$150x22 1/2°
EFR8AL Fg150x22 1/2

[EFmB R Kg150x22 1/2°

160)
1,380 1,380
1,260 01530 500 350 1350 500 530(530
[—— g IR
EFY v b160x 19y
EFYry k§150x24 EFViry b @150x 24
PERLOMRY I bo— A& 6150 (EMER) T PERLO#Y 2 b —ii-434 & 150 (EREE)
#
. o
= J{ EFRSF—X ¢ 150x ¢150
S ' By k315065
N o
o |
8 X EFRB AL K E150x22 1/2°

EFFBAR Fo150x11 1/4°

2
= 7w b 6150
7>
& € Dr@
s, \< Y FiL-53 ke (PPA) ¢ 150 x ¢ 50

EFviry 9150
\ EFr = b 150
PELOHY D P —NHIH 150 (EBAHE)

EFJ5 3~ 2 K ¢1150 x 45°
EFgi %<2 | ¢ 150 x 45°

‘ EFRBTISLOEE $150

HIFEPER ¢150x $150 (#ULTH)
hsa7)kid- 4

BEPER ¢ 150

FHN0IPA ¢ 150
A b ws3—8A IDIPA & 150

WIFHDIPHE $150x 150 (S It
Ein' 4

EFERBAL Fa150x22 /2
EFREA L Fé150x22 1/2°

PEHL OV 2 F— 4036150 (EREE)
- 4

EFV 4y b 15024

SRV 2 T Ik $50
IS —BITy bd50x2s

[

a
=3
-
o~
il
- i
(=1
=]
2
o

2
)
&
%
"
*

# Fivsskie (PPAR) 6150 x ¢80

A%

DrFFHE Dr@s¥#IE

HEWXD PP@S0
L=1,800 (i=1,800)
500__ 1.300

=) T KE G0
A—S—RVirw bdb0x2y

[T
| el T ab KR G50 1% P, 150 x ¢ 50
| A8 —RVTy b $50x2y
HAHE
PP JL7K ¢ 50 x 90°
Y FiL57kee (PPAD) & 150 x ¢50

-4 BRI ERREIE
5 B | ERASEBRBMESTER HR
B 4 &
# R &’ & Ui
e &
7mEeroKiEEER BE|l 4/8




- S=1/500 (A)
HBAKEMZREBE s-1/1000 3)

#ﬁ* %Eﬁﬁﬂ@ S=Free

@
) ) BB
== A : = M AR BN : 1.30m
_ e . s RTAEHGH : 2. 00n
=~ —— ) \\ s 4 B4k (PPA) ¢ 150 X 620
o - — w / —= , : 2—5—[y 7y k820~3y
N e € R -
———= T M y ~ ' Si—L1) .
= = = - = ¥ =LY bk PPEIMEY 7o b $20
_’_ —— P I \ ‘[/ ' @ %70__— PRI S20%90°
: 7 4 Wy £ 820
S 2T p_pEz;i;:gzoxeo'
BTN : 2. 20m
/ -
/
o FILa A (PP $150% 620 /-9, &/
A—s—EYry k$20~3
S ik $20 2, 4%§S
kR & <
PPRES 7 v F 620 ! #
PPEIT LK ¢ 20X 90° % AF &
\“\* ﬁ%@
-~
nBe¥ e .
TP
3
L=
B
%
¥ B B
T~ BTHEH : 2. 200
S~ e
TTh— -—‘"/// S E sk (PPE) & 150 % 640
e —— e——_— A—5—MYUtry Fa40~3r
T S— L\ 2 T IE R $ 4D
| bkt 0 000
I PP Vi t 640
' PPEIT LK ¢ 40 % 90°
[
\
IEE HEBARKETRETE

B | ERREEBRBSSTEE BN

A | KAEARTEER - HKEEEAR

g R B F il

;EHE RE

BRErkEREEM B&| 5/8




TI®

A - BR
# A REB

Br3E - BHEER

BEL : BEBHEASIF t=5cn

$=1/20 (A1)

FAEER () s/ @3

BT:E - 3EAR

o e ()

#a - BR
£ & &EB

2 n s,

BB FEMREAIF t=3c

HKEEGETELER e

AEMYBL t=5on F:  BERE (RO-40) t=10cn
L

ey %
_\ 5
! RN ' .
| I
i 1 o ERE @)

Hiviry 8D (BRI EVP)

op

[RUzFLL & (CHE ISRV +oD (EREVP)

PPRREY v b 60 (BEREPP)

BRRY AL t=5on BT : BERE (R0-40) t=20cn
g &
=
s L o
= a | B8R =
o
N —1
N \_EEss— ¢ f
=150
\_EAEPPHD
g BAEPPGD
TEH
EREE | 0= | %@ |t&y| B | 0D | n | w2 | H
-1 $150 PE 730 600 180 480 160 1010
@2 @150 PE 1200 600 180 950 1230 1480
@3 @50 PP 730 600 €0 480 640 850

2 | W £ + RiLgaide PP ¢ 150 xD
+ | ER A—S—Fu 4y b D =Y T Ik $D
_\ A—H—BY v b dDdx2y
A3 z
BB~ b
=150
BAEPPHD
| B BAEPPED
EHRETHE
TER
@#snE | o8 BEE | 1Y B D hl h2 H M M
@1, @150 PE 600 600 180 470 750 880
@-2 @180 PE 730 600 180 600 880 1010
@-3 @150 PE 840 600 180 710 9% 1120
@4 $ 150 PE 1200 600 180 1020 1350 1480
e B g LG B L R R R HBT HEENEAS t=5cn
R  SERARCA0 t=10cn
| |
2 ! g 8 l =
s ¥ bil 2
2 gsfi I 4 iﬁi g v
! l\
800 N\ k¥ 4D 600 [N\ #KE oD
HEL FEBREATS t=50m
y Sl EH#A (Co)
)] 1
BEI : 325 U— | (18-8-40)
BRI . BERARCA0 t=10cm
8_%3 % IHE SRR ERREIE
g ! §. & B | ERAERBRSNESTEE BN
g ! ”ﬁi L
& | B & mawEE
N ® R B = m
600 BAE D BHE BE
78 Bk MW %P &%) 6/8




1, 100

1, 200

@150 x ¢ 150

(PEER)

1,000

500

1,100 1,200

600

1,670

300 170

1,200

1.200

_FENERQ2) s=1:20
(FERKI)

@150 x 150
(BRER)

2,400

600

1,200

ITBEBRIEER s=1:2

1,870

1,200

300 170

IHE EEBAREKEARELIE

& A ERREEBRANESTES BN
] mEmEE ) (FHAT)

#® R = fuilk

HitE BE

RRBETKERER BE| 7/8




